(. LOMBARDINEw: ow s

A KOHLER. COMPANEngine: LDW 442 Drawing: C

CYLINDER HEAD/ROCKER ARM BOX/VALVES/TIMING/GLOW PLUG/JOCKEY PULLEY
POS. |CODE DESCRIPTION Qty
1 2125.707 rocker arm cover 1
1 2125.724 rocker arm cover 1
2 9865.318 screw 4
3 7980.096 cup 4
4 4400.105 gasket 4
5 1200.082 O ring 3106 1
6 9032.0093 filler oil cap 1
7 4400.109 gasket 1
8 1760.147 screw 10
9 2125.731 camshaft cover 1
10 1970.456 sleeve 2
11 1541.242 rocker arm 4
12 7215.128 hydraulic push rod 4
13 1261.118 seal 4
14 6410.137 retainer with half-collets 4
15 5755.153 valve spring 4
16 6400.092 retainer 4
17 9685.158 eXhaust valve 2
18 V625.130 washer diam. 10,2 6
19 1862.152 fiXing head bolt 6
20 1213.510 seal ring 25X40X7 1
21 9305.494 hose 1
22 9080.133 plug diam. 8 1
23 8990.047 plug diam.18 1
24 9201.125 complete cylinder head 1
25 8990.042 plug 1
26 8089.126 timing sensor 1
27 1760.130 bolt M 6 X 1 X 12 1
28 8990.047 plug diam.18 1
29 2100.094 preheating glow plug 12 V 2
30 4845.255 inlet valve guide 2
31 4845.256 eXh.valve guide 2
32 8000.225 inlet v.seat 2
33 8000.224 eXhaust v.seat 2
34 4730.766 gasket 0,83 1
34 4730.812 gasket 0,73 1
34 4730.813 gasket 0,93 1
34 4730.922 gasket 1,02 1
35 8400.020 taper pin 2
36 9730.003 screw M 5 X 10 2
37 8089.134 revolution sensor 1
38 6370.706 plate 1
39 3617.147 clamp 1
40 1770.160 screw M 8 X 1,25 X 16 1
41  6975.357 contr.gear pulley 1
42 VJ63R.002 washer diam. 8,4 1
43  9730.031 screw M 8 X 40 1
44 4110.045 jockey pulley 1
443 5885.077 hub for jockey pulley 1
45 9730.389 screw 1
46 2015.104 sensor cam 1
47 2440.411 timing belt 1
48 1011.806 camshaft 1

printed by LOMBARDINI: 29/03/2018 -

1




Group: LDW 442

Engine: LDW 442 Drawing: C

CYLINDER HEAD/ROCKER ARM BOX/VALVES/TIMING/GLOW PLUG/JOCKEY PULLEY

POS. |CODE DESCRIPTION Qty
49 2280.166 tab 3 X 3 X 12 1
50 6975.364 camshaft pulley 1
51 1625.256 washer diam.10,5 (alt.33 A) 1
52 1780.140 bolt M 10 X 30 1
53 9652.167 intake valve 2

printed by LOMBARDINI: 29/03/2018 -

2




Engine: LDW 442 Drawing: C

52 51 50 49 48 46 45 47

@951 26—%

27—¢

43 42 44

L

printed by LOMBARDINI: 29/03/2018



